Where Will Campers Sleep in 20 Years ?

Do each exercise below, following the directions given for each section. Select
your answer from the two choices given and circle the letter next to it. Write
this letter in the box at the bottom of the page that contains the number of
that exercise.

Write each expression in exponential form.

the fifth power of the
- product of p and 9

-3y ifx=5y=2 @ -5
-y ifx=-7, y=-1 48
1D x—y? ifx=2,y=-4 (A) 256
xy2-2x°> ifx=3,y=2 (F) —42

;fff ifa=—4,b=6 ®) 12
@?2‘:‘;2 ita=1,b=—2 ® 4

—%f:g; ifa=-5b=3 ® 2
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OBJECTIVE t1--a: To write or evaluate exponential expressions. ALGEg%fegggiﬁﬁcaﬁons‘ 59
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Why Did the Donkey Get a'Passport ?

Simplify each expression below. Find your answer in the answer column and @ —1 ,_Xm +8x% + x

notice the letter next to it. Write this letter in each box at the bottom of the page

that contains the number of that exercise. @ —6x5—Tx*+9
() ex®+2x-6x+7 E ex*-5x-2
@ 4-3-9x-7+x (V) 3a%b - 4ab?
(3) —5x+8- 4 —4x+2x L ax-3x+7
@ - (-3 +4+7x*—8x—6 (K) 2a°-5a%b — ab? - 2b°
(B —x—5x+(-3x3)-9-2x+7 H C+am+13
@ -7+x3-5x>+4x—-5x+3 @ x°’—5x2-x—4
(@) 9 +6x2+6x—1+5x°—x2— (=9 (B) 24+ 4ab + b?
() —7x+5x%—5x° + 8x + 32 — I + x° @) -2x-9x-3
(9) 65+ (~2) — (—2x) — 5x® — X% + x + 4x2 + 15 (©) 2a°-5a%b + 6ab? + b°
(0) 6x° — 2x* + 6x® — 12x5 — 6x* + 9x° M) 9x°+5x% +6x+8
(1) 8ab - 3b° + 2a% - 4ab + 4b° (®) -2x-9x+8
@ 5a°b + 9ab? — 2a%b ~ 13ab? @ —-6x° — 8x* + 15x°
@ 3a® + b - 6a°b — a° + 6ab? + a?b @ —a° + 2a°b — ab? — 2b°
(9 a?b*+a%b - a® - ab? + ab — b° — a%? — b° ©®) -3x®-8x-2
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“Where Will Campers Sleep in 20 Years?

Show Work

Letter
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Why Did the Donkey Get a Passport?

Rewrite in Standard Form

Combine Like Terms

B +x9x+4-7

2x-9x -3
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